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AT _AE_AD
AC AB

©ODF:BG=AE:AC®




O 4 @ 6 ®)10 @ 14 ® 20

6:4=(x+3):x

6x =4x + 12

Lx=6

6:y=12:8

Ly=4

kA x+y =6+4 = 10°]tt.




4. TS T4 DE //BC & W, x o] LS F5to]
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DP:BQ=AP:AQ,AP: AQ =AP:QC
= DP:BQ=PE: QC
5:8=x:6

15
8x =30,x= T




th& 1”3 Zo] AD // EF // BC ¢ o, EF 9

@ 5.2cm @ 5.3cm ® 5.4cm

@ 5.5cm ® 5.6cm

4cm
D

12cm

T ~c0- -~ < _
a
8

C 6cm.

12:20=EP: 6
20EP = 72,EP = 3.6(cm)
8:20=PF :4

20PF = 32,PF = 1.6(cm)
~EF =3.6+1.6 = 5.2(cm)
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th 133} o] AD//EF//BC §1 Altte]E ABCD |4 AE : EB =

2:1 ¢ o, MN ] Zo]=?

_-16cm-~ _

@SCIn @ 9cm ® 10cm @ 1lcm ® 12cm

~&B

i) ABEM, ABAD A /B = &%, /BEM = /BAD
wtalA ABEM 00 ABAD (AA SH2)
HJCHZEM:AD=BE:BAS EM:16=1:3
2 B = Dem

3

ii) AAEN, AABC oA /A &= &5, /AEN = /ABC
w2k AAEN 0 AABC (AA §2)

SOHZ AE:AB=EN:BC&©2:3=EN:20




7.

th& Z1™ellA CD ] Zol=?

AE:EG = AF : FC

10:EG=12:9

W EG=

EC : CID = BT < T,
— 1 1
13:CD:(14—75):?5
13 1
13:CD:?3:?5

13:CD =13:15
.. CD=15




oh 19 2] AABC oA AB ©] 53 D o4 BC °f Ba¥stA 12
243 ACete] w4 E 2 512, 4 E oA AB ol BYatA 12
A7 BCote] w3& F 2t & of, CE + EF + FC & stofzh

> =gl 125

AD = DB, DE//BC ©]|2& AE = EC, .. CE 9| Zo]&4
ol
AE = EC, AB//EF ©|E2 BF = CF, . FC ¢ dol&5
o|t.

— 1— 1

w2t CE+ EF +FC=4+35+5=125




9. AABC oA ZF Y
12¢cm, AC = 8cm €

@ 10ecm @ 12cm @ 13cm @150111 ® 18cm

ﬁzlA_Czlxm:E)(cm)
2 2
ﬁ—lﬁ—lxu—ﬁ( )
T T g reTem
— 1= 1

. (AABCY] €99 Zo]) = DE + EF + DF

l— 1 1-—
“AB+ -BC+ A

5AB+ -BC+ - AC
1 — —
5(AB+BC +AC

5(10+12+8)
= 15(cm)
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10. & 299 AABC 94 AD = CD ,
17cm? & o], ABCD 2] Ho]E HZ2 4
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® 30cm? @ 31cm? @ 32cm?

@ 33cm? )34 cm?

. AABE =

AABE = AAED = 17 (¢m?) ©]2 AABD = aBCD o2&

ABCD = 34 c¢m? o|th,




11. o2 2994 AD//BC ]2 H M,N 2 ZZ} AB,CD 2] S0t}
OAMND = 14cm? € o, cMBCN 2] Yo]& Hl2 4] gt A

@ 10cm? @ 12cm? ® 14cm?

@ 16 cm? ®)18 cm?

B ~
W:%(lO—i—ﬁ)zS(cm)

OAMND oJ|4] &°]& h 2 5HH
(8+6)xh=+2=140]B=

h=2(cm)

- OMBCN = (10 4 8) x 2 + 2 = 18 (cm?)




12, o2 J9A HE, F, G, H+ BPAAE ABCD 9] ZF 9] 4
o|th. BH = 15cm ¢ o, QF o] Zo]&?
A

@ 2cm @)3cm ® 4cm @ 5cm ® 6cm

HS = xem 2 FH AARD &} ACPB ]| ti5te] AD = CB (¥
APAR O] TiH)

/BCE = /GEC = /EGA = /DAG (97}

LCBP = /ADR (% 3AI¥ s oHDFB oA <] tZ})

AARD = ACPB (ASA 3+5)°]|22 RD = PB

A2rg o A2l ol DR = 2HS = 2x = PB

E3H ABSA A E FHEAZA ] oJsf BP = PS = 2x
w2tA BP+PS+SH=5x=15.. x=3

- QF = HS = 3(cm)




13. \:]'—‘% 1%01]/& /ABC = ZCAE’ /BAD = /DAE O]._T’__ AC — 4Cm,
BC = som 9 W), BD 9] Ao] & F3fefet.

vV V¥
0
it

4cm

S8 i
ACAE ¢} ACBA A /C 7t 3%,
/ABC = /CAE 0|22
ACAE o ACBA (AA B2)

AC’ =CExCB

42 =CEx8

- CE = 2cm

TESH BC: BA = AC : AE oA
ABx AC =BC x AE
4AB=8AE > AB:AE=2:1
BD=xZ3StHDE=6-x°R=2

AABE oA A2 9] Wzhe] o] RS A2l o5 AB :

AE =BD:DE
2:1=x:(6-x)
Tx=4

web] BD = dem o]t}




14. & 1"83} Zo] /BAC = 90°°]1, /BAD = /CAD, AB =

12cm, AC = 8cm ¥ W], AADC 9] Yo|& F5}H?
4
@) Eégcm2 @ %cm2 ® 40cm?
7
@ 45cm? ® ?5(3m2

B

_ 1
AABC = 2 ZH4Z ol 22 AABC = 12 x 8 5= 48(cm?)

ot}
AB:AC=BD:DC=3:20]22 AABD : AADC =3:2

2
~ AADC = AABC x % =48 x F= 95—6(01112)




15. th& 19l AB // EF // CD € W, BF o] do|& Fstofzt.
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B-_ F _.-D
~20cm
» E: cm

AE:ED=2:39|2&

BF:FD=2:3
BF:BD=2:5
BF:20=2:5

BF = 8cm




